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Chapter 7  Explaining Tastes: The Importance of Altruism and Other Nonegoistic Behavior

Chapter Summary

Chapter 7 examines the concept of rationality, in particular the idea that rationality implies selfishness. The well‑known example of the prisoner's dilemma illustrates that acting in one's own self‑interest, narrowly defined, often leads to outcomes which are less than optimal.

The chapter begins with a discussion of altruistic behavior and expands that notion into an extended example of hawks and doves. Irrational behavior may be rational because for certain personality types and for certain types of tasks, the results of cooperation are better than the results of narrow self-interested behavior. Identifying other cooperators is an important part of making altruism work, so commitment and signaling devices are analyzed. 

Some attention is given to the role of emotions in signaling the type of person one is. If one is known to have emotions of a particular kind, advantages could result. For example, it may be irrational for someone to prosecute over a petty theft, but if the thief believes that his potential victim will pursue him to the utmost extent of the law, then this stealing may become irrational. A commitment to act in a certain way will often deter an undesirable outcome.

In the end, it is important that tastes do vary among individuals. Indeed they will differ if optimal welfare is to be achieved.
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Teaching Suggestions

1. Before teaching this chapter, it is important to read and study the section at the top of page 272 in the text. Unless this section is understood, the material will be taught as trees in a vague forest. In Chapter 1 we learned that rational choice, not present aim rationality, was useful because it worked from objectives common to most. People with unusual objectives do things that are not predictable. However, now we examine behavior that is not common to most, cooperation rather than competition. We find that it can be rational to sacrifice individual self interest and focus on the common good. Some have a taste for cooperation and some for competition, or defecting as the text harshly calls it. What is necessary for the cooperation models to be helpful is an explanation of how an alternative taste, such as cooperation, can be advantageous to the person having that taste. If we find that cooperating is advantageous, then it will exist and perhaps thrive. Wherever there are joint production opportunities, the cooperators fare better than the self-interested competitors. Consequently there is a role for cooperators to play in a society, and the higher the payoff to cooperating, the bigger the niche for cooperators will be. For this chapter to be taught well, one must recognize the methodological implications, and the practical and institutional applications of the material. 

2. This is a good place to bring in the economics of religion literature. The production of religious output is largely jointly produced. Fellowship, worship, and service projects are generated by group participation. Those with the most cooperative attitudes have the greatest respect. Shirkers in the production process are subject to discipline of some sort or at least sermons that challenge them to do better.  The spiritual part of people and all its accompanying emotions are rewarded, so the commitment problem is more easily solved. Indeed, those with rational self-interested behavior lose out because they are less inclined to participate and reap the benefits of religious output, and  mimicry is not easy to do daily or at least weekly. People who enter the church for purely selfish reasons will not fare very well.

3. Some effort should be made to illustrate that the type of payoff matrix used for the prisoner's dilemma is not just constructed conveniently to get the desired results. It is logical that a defector working with a cooperator will fare better than the cooperator. Cooperators working together in joint production will certainly fare better than cheaters working together. Develop a scenario from the prisoner dilemma story on page 261 of the text to show that the usual payoff amounts are consistent with logic. 

4. Use this opportunity to comment on the interdisciplinary connections between economics and the natural world. Genetic theory of survival and population balance is central to the argument that the group with the highest payoff will dominate over time. That may not be obvious in a time where excess of food and material things is weakening the drive to save and increase productivity. In fact, history is full of stories where success led to excess, weakness, and ultimately destruction. 

Stumbling Blocks for Students

1. Students will debate whether this material is nothing more than enlightened self-interest. Perhaps they are right, but then it is important to make the distinctions between enlightened and unenlightened self-interest. The fact that self-interested behavior, as we usually understand it, does not fare well in some situations is worth filing away as part of the critical thinking framework needed to understand markets and the behavior of those operating in the markets.

2. The mechanics of the population percentage model are understood until the point where cooperators stop purchasing information and begin taking their chances in the market. It is not usually observed that the reason the population will fall back to its equilibrium automatically is that defectors now cannot be discriminated against, so their expected payoff now jumps above the cooperator's payoff. This will return the population to the equilibrium again. Likewise, below the equilibrium point the payoff is higher for the cooperator if she pays the information fee and ensures the cooperators higher payoff amount. Several times through the adjustment process with the graph is necessary for clarity. 

3. Since the pursuit of self-interest is eulogized so much in economic discussions, the enormous amount of joint production situations in an economy is often overlooked. The organization of firms into teams and groups might help erase the notion that this chapter speaks to a tiny part of our behavior. The fact that other texts make little of this material may reinforce the student's view that this is tangential. The chapter itself is listed as a supplementary chapter which doesn't help either. 

Answers to Questions for Review

1. The present aim standard takes individual interests as given even if these interests appear to be irrational. The self‑interest standard argues that people are purely egoistic.

2. "Rational calculations can affect feelings and hence actions."

3. Typical examples students might come up with: commitment in a relationship; commitment to getting an A in class.

4. If one observes someone with a disposition toward, say, anger, one will assume that the person will commit to a strategy of retaliation.

5. Both parties would be better off without nuclear arms.

Answers to Chapter 7 Problems

4. Let rf denote the share of friendlies in the population, so that 1-rf denotes the share of aggressives.  Since the two types interact at random with other members of the population, the expected payoff for friendlies is given by E(X|F) =  3rf + 1(1-rf) = 1 + 2rf.  The corresponding expected payoff for aggressives is E(X|A) = 5rf + 0(1-rf) = 5rf. The population mix is in equilibrium when the expected payoffs of the two types are the same.

      If rf* denotes the equilibrium share of friendlies, we have  1 + 2rf* =  5rf* , which solves for   rf* = 1/3.  The equilibrium share of aggressives is 1-rf* = 2/3.

2.   a) First we must see whether it pays the Cs to buy the goggles.  If it is in the interest of any one of them to do so, it will be in the interest of all.  If all Cs have goggles, they can identify one another and interact selectively, leaving the Ds to interact with one another.  In this case, the payoff to each C will be 6-1=5.  If the Cs do not buy goggles, they will interact at random with other members of the population.  If rc denotes the share of Cs in the population, their expected payoff when they don't buy goggles is given by E(X|C, don't buy) =  rc 6 + (1-rc) 0 = 6rc. Equating the expected payoff of the Cs when they buy goggles to their expected payoff when they do not, we get the break-even level of rc:  rc' = 5/6 . For rc < 5/6, the Cs have a higher expected payoff if they buy the goggles.  For rc > 5/6, they have a higher expected payoff if they simply take their chances.  For rc < 5/6, the Cs will have goggles, which means that the Ds will be forced to interact with one another, which gives the Ds a payoff of 4.  Once rc > 5/6, however, the Cs stop buying goggles, and the expected payoff for the Ds becomes  E(X|D, Cs don't buy)  =  rc 8 + (1-rc) 4  =  4 + 4 rc.  Thus the average payoff for Cs is greater than for Ds whenever rc< 5/6, while the expected payoff for Ds exceeds that of Cs whenever rc > 5/6, as shown in the diagram.
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The result is that if we start with rc > 5/6, the population share of Cs will shrink to 5/6, because the growth rate of Ds will be faster than that of Cs.  If we start with rc < 5/6, the population share of Cs will grow to 5/6.

2. b) If Ds each received 5.5 when they were paired together they will receive a higher payoff than the Cs at all population proportions so the Cs will eventually die out.

3. For a given total income for the two, Alphonse's utility function,  UA = MAMG, is maximized when MA=MG, as shown in Example 7.1.  Given Alphonse's budget constraint (see diagram), this happens when MA=MG = 60.  So Alphonse will give Gaston 40 of his initial 100.
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4. If they do not do the project, each person will have a utility level of 102/10 = 10.  If they do the project and Abdul gets P, Benjamin will get 10-P.  Abdul's total wealth will then be 10+P, Benjamin's 20-P. The minimum acceptable value of P for Abdul will satisfy             UA  =  (10+P)2/(20-P)  = 10.  Solving for P, we have  P = 3.028. 

Since the problem is symmetric, this is also the minimum payment that would be acceptable to Benjamin.  And since the total gain from doing the project is more than enough for each person to get 3.028, they will do it.  (Verify, for example, that if each takes 5, each will be better off than before.)

5. If Benjamin accepts Abdul's 1-unit offer, his utility will be UB = (10+1)2 = 121. If he refuses, his utility level will be only 102 = 100, so he will accept Abdul's offer.  There is no point in refusing in hopes of a better bargain, since if Abdul gives Benjamin more than 1 unit, the contract will require him to give 20 to a cause he opposes, which would lower his utility below his original level.

6. The advantage is that if opposing nations know this leader's preferences about retaliation, they are less likely to commit aggression in the first place.  One disadvantage of having such a leader is that he or she may engage in costly retaliation even after an unintended act of aggression by an opponent.

7. Let t represent the length of the line at the polls, measured in hours.  Then the total time required to vote, including travel time, is equal to (t + 1/3) hours. Given that he can earn $30/hr at his job, the opportunity cost of his voting is thus (30t + 10) dollars. And since she gets 3 units of utility from each unit of consumption of the composite good, the opportunity cost of voting in utility terms is equal to 90t + 30 units.  On the benefit side, he stands to gain 60 units of utility by voting.  The maximum length of the polling line is the value of t that equates the costs and benefits of voting in utility terms:  This value of  t is found by solving the equation, 90t + 30 = 60, which yields t = 10/3 hour, or 200 minutes.  


Additional Problems

1. Imagine you want to buy a ticket to a sold-out rock concert. Your only hope of seeing the concert is to buy a ticket from a scalper. There is a 40% chance that the ticket you buy will be a counterfeit.

a. If going to the concert gives you $200 worth of pleasure (payoff), and the price for concert tickets is $175, what is your expected payoff if you buy a ticket from a scalper?

b. Suppose you find out that you can buy legitimate tickets from an agency for $225. What variable would have to change in order for you to pay $225 for a ticket?

2. Suppose you decide to buy a ticket from the agency in Problem 1 for $225, and there is a 10% chance that the check you write to the agency will bounce and they will never recover what you owe them.

a. What is the agency's expected payoff? 

b. Suppose it will cost the agency $25 in paperwork to ensure the validity of all checks. Should they pay for this option?

Answers to Additional Problems

1. a) E(P) = 0.4(‑$175)+0.6 ($200)= ‑$70+$120=$50

1. b) The pleasure or payoff of attending the rock concert would have to increase by $25.

2.   a) E(P) =0.9($225)+0.1(0)= $202.5 

2.   b) Net worth of the option: E(P)=$225‑$25 = $200. Since $200 is less than the expected  
payoff of $202.5 without the option, the agency should pay for this option.

Answers to Homework Assignment

Homework Assignment                               key:______Chapter 7______________

1. Andrew’s utility function is: 

U = (Andrew’s wealth + $200,000 / Mark’s wealth - $100,000)

a. If Andrew is a millionaire and Mark has one-half a million in wealth, what is Andrew’s utility level?      

1.2/.4 = 3

b. Andrew has a business idea, but needs Mark’s expertise to make it fly. The profit from the idea is expected to be $200,000. Mark is a hard bargainer and Andrew does not want to end up worse off on the deal. If Mark demands $75,000, should Andrew accept the deal?

No, because his pleasure level falls to 1.2 +.125/.475 = 1.325/.475 = 2.79 

c. What is the most he should be willing to offer to Mark to join the deal?

1.2 + (200 - x)/.4 + x = 3  so 1.2 +200 - x = 1.2 + 3x;   200 = 4x; and x = 50

d. Why does this problem not fit within the usual neo-classical microeconomic analytical framework?

Andrew’s preference pattern is interdependent with Mark’s. Rational choice would have Andrew accepting a demand up to $199,999.

e. Comment on the kinds of feelings that might underlie  this utility function making it more realistic?

Andrew will feel less successful if he is less than 3x as well off as Mark. Positional relationship is more important than absolute standing. 

f. If the utility function was inverted, what would Andrew do? Would such a function make sense?

He would give all the money to Mark. It only makes sense if Andrew cares more about Mark than himself.

2. Working from problem 5e in the study guide, you want society to be equally balanced between sharers and individualists. In addition, you have the political clout to impose a tax on top of the existing 10 pound cost of picking partners. From these givens, could you achieve an equal balance in the population and, if so, how large a tax would need to be imposed to achieve the goal? Explain your answer.
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3. Reflect on some practical ways that society does or could encourage cooperative behavior. List 2 possibilities.     

1. tax non-cooperation 

2. subsidize cooperation

Notes:

A tax of 15 in addition to the 10 existing cost means the Sharers will have a 50 net payoff and 50% of the population. 
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